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CHID : 2% e | [ Qiords wAHLGQuarsar ; 100
Time Allowed : 22 Hours | [Maximum Marks : 100
2ileysmr (1) =eangg) eflarrdsiennd surs siFs0 udleurdl o darersn oreilsenan

sfiurrsgs Cararareyb. siFstudlala Eopul@mliGea Smps
FerrarartiuuTertib o Leamguirs GlsflefdaeyLn.
(2) Beod evevgl &L @wulianean WL HCWL apsashEl LUaURES
Ceuam(pid. UL mger euenFeusm Gluensld Lwemu(fisse) .
Instructions : (1) Check the question paper for fairness of printing. 1f there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pendil to draw diagrams,

@iy : Eeaellamsgrar sreng Gfleymanars Claram g

Note : This question paper contains four sections.

ilfley - 1/ SECTION - I
(dUuGlueamaar : 15) / (Marks : 15)

@iy @ () @udifleller o crer 15 eflenmdaEndiEn allenwaflssa)in. 15x1=15
(i) Qar@ssiul_(Herar Breng ellansaid Waeyh silurer eilenlaniis
CarbelsBss ol HLer ellenulenemud Gz eripsis.
Note : (i}  Answer all the 15 questions.

(ii) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.

1. &G Qaraslul (Reratencuseiley seummen sapm 6rEl ?
(=) A/B=AnB (=) A/B=ANB
(@) A/B=(AUB)~B' (7) A/B=AUB/B
Which one of the following is not true ?
(a) A/B=AnB (b) A/B=AnB
(©) A/B=(AUB)"B' (d) A/B=AUB/B

[ Emlins [ Turn over
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Ay 8y, Ay ... GTENILIEN (5 sl (AG QarLi euflensudla a4, 2 TeDLs E(mEGLD

arafley =ib sl (D5 Csrr euflensulier 13 sug) 2 mit :

(=)

b | 3

(<31) 0 (@) 12 a, (F) 14 a

ﬂ_! “3
If a;, a5, a5 ... are in AP, such that 5’;_3' then the 13 term of the AP is :

1 e

(a) by 0O (c) 12 a, (d) 14 a,

g umEes Csrir euflensiflen (psd BreanE 2BHs550ss 2 mlyaaian
GLmEsnLaa 256, Sigen Hurg eildlsd 4 LHMD Sisem (e 2wl Wens
arafm erafley, ihg GUmSEGSEsTLT euflengufen 3 s 2 miiy ¢

: . 1 1 _
(<=¢) 8 (=) T (@) = () 16

If the product of first four consecutive terms of a G.F is 256 and if the common ratio is
4 and the first term is positive, then the 3™ term is ;

1 1
(a) 8 B T €@ = (d) 16

a =,

¥ =25 . X3 . cosnsy i

o3 TEL@s T < aUEEBID Gurg Sl sGn rey
© e i AT

{(24) (¥=3) (x=3) (=) (x=3) (x+3)
(@) (x+5) (x—3) (F7) (x+3) (x+3)

95 L x+5
W T - isequal to:
Y52 g q

I X
On dlwdmg
r+3

(a) (x—=5) (x=3) (b}  (x=5) (x+3)
(£} [x+5)(x—3) (I & 5 o o et
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27 0 ram Sienoh Fwatur( ax=+br+c=0 & OmET o nomb B aalld

SlemaumeueTal HMIET &gl Seummern b ?

7 2 bj—Eﬂ.E /

|I,__'=_'_'|J|:| {t +!3 = a_‘!-— {"'_—"gli:l} e ]3: Eﬂ_
. b 1 ko =B
{@} = ; IITT:I E 1z E = T

If o, 3 are the roots of ax* +by+c=0, a = 0 then the wrong statement is :

-

b~—2ac

(a) 1.':2'5-{51 = ﬂ—z (b) P = }f;
] o= a — b l - .]. = __i:'
(c} o+ ey i 5 5 -

Sleweumeuereunmer arpss smbm Quiurasaea 7

(=) Slewsllell enflurang sam s =sanfluimeb

(=24) epenaedll L ___=_qm~.:lu_."-em@| S(IF E&EIT el ImELD
G-

(&) Seveudliall =yenfliurans o ppenaveill L jaeflurgb

() fpenaell L Sjenflurers am SHosuladl sefliumglb

Which one of the following statement is not true ?
(@) A scalar matrix is a square matrix

(b} A diagonal matrix is a square matrix

(c) A scalar matrix is a diagonal matrix

{=

) A diagonal matrix is a scalar matrix

Ty—2x=11 eTém ’-ii’riﬁr'rticifri'_q_aﬁ'l Emiley :

= 7 2 =2
(=) - () 3 @ = () ==
The slope of the straight line 7y~ 2x=11 is equal to :

= 7 2 =2
= ® 3 @ > @ -

s L i 4
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110,

y=2x+k eramp Crr&Gar( (1, 2) srenm Yeall culbié Cleadlamns ealld ke
Ly

(<2i) 0O (=) 4 {

D,
A1
|

If a straight line y=2x+k passes through the point (1, 2), then the value of k is equal
t@.:

(a) 0O (k) 4 {c} 5 (d) —3

(osGarariimear ABC ihmh DEF safldy #B=/E wapb £C=2F eeafla

o B R o I o B S 4
(=) BE = EF <) FF T &) BE T EF ‘ FD  EF
In triangles ABC and DEF, £#B=£E, #C=ZF then :

AB _CA BC_AB . AB_BC . CA_AB
(@) BE = EF ®) T i ‘) DE EF & FB OEE

Gram® e Geurss witarariisailan LrdiLaraser wpanGu 16 Q.52 whmib
36 Qe.152 . wppe iCararsdlar Gsawrh 3 Q5.8 aalld, widprm
(p&Garansdlad Sigmen @iz GSIHIITH |

(=4) 65 Cg.b (<=t) 6 Ge.b (E) 4 Ga.b () 4.5 Ge.1f

The area of two similar triangles are 16cm? and 36.cm? respectivelv. If the altitude of
the first triangle is 3cm, then the corresponding altitude of the other triangle is

(a) B.5cm (b) Bem {c) 4cm () 4.5cm
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11. x=asech, y=Dh tand Tl —5 — =5 - & WSl ;
il K

(==4) 1 (==4) —1 [&EI‘I] tan-f (FF) cosech

2 2

e i

If x=a secl, y="0tanl, then the value of 3—1 — b_2
&)y 1 (by -1 (c) tan®@ (d) cosec’d

12.  sin (90°—8) cost +cos (90°— ) sinf=

(=24) 1 (=) O (@) 2 () -1

sin (90F — ) cost 4+ cos (907 —0) sinf =

[

(a) 1 (b) 0 (c) (dy -1

13. g Crrau L e mevarifien SigliLdal Lgtiy 80 &@F.18, siger 2.wrib 5 @18

erafled 2 (hemeruilen Sam HETEY :
s - % - 400 .
(<z4) 400 G5 7 (<3,) 16GIE.L5 (@) 200Gs.05 3 (¢7) T{E\g.@

Base area of a right circular cylinder is 80cm?. If its height is 5em, then the volume is
equal to;

. . 00
(a) 400cm’ (by 16cm” (c) 200cm? (d) o

[ Q{'ﬁil—{aﬁ J Turn pver
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14, #Hle ellaurdsailan sl (B& sprat wpmb lL aflessd apepmGuw 48 , 12 erara

wrourl HEClsp

(1
o

(=) 42 (<) 25 (@) 28 () 48

Mean and standard deviation of a data are 48 and 12 respectively. The coefficient of
variation is :

(a) 42 (b) 25 (c) 28 (dy 48
15. @ &) sugsLwdears sugsliorang 53 @rrullhm s neawser wHmbn 53
dlius Hpamosdar aramgmlusnstar Benssey
1 2 3
(81} = (=24) > (@) - () 0
The probability that a non-leap vear will have 53 Sundays and 53 Mondays 1s
L b - y @ 1 ]
{ﬂ} = r;-'.:l 7 {C.:I i [L} L
Wlfley - 11/ SECTION - II
(wéGlueamsdr - 20) / (Marks : 20)
GOy = () uss cllamasEnss e welldgab. 10x2=20
(i) efemmr eram 30 & sarglurs elledLwealsseyn.  LHD
14 ellanm&seatiallmbg gCGaayb 9 ellamssanars Goie Glslwab.
MNote : (i}  Answer 10 questions,
(i) Question number 30 is Compulsory. Select any 9 questions from the tirst
14 questions.
_ Lx 20 e ; ;
16. |y|= i ox eq TEID CGumg @l xeR. {(x, y)/y=[x], x e B} ganm 2. m&y,

Enen euenTWMIESNST ? SiGe elFssid STams.

rifxr =0 ) ) .
Let |x|= : where x € R. Does the relation {{x, )/y=|x], v € R} define a
—xifx <0 &t

function ? Find its range,
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+.4 n? = 36100 grafléd 14+2+3+ .. +n am wHlmUE Sreans.

13425433+ .+ n®= 36100 find 1+2+3+..+n.

omb y=-1 e Wsflwhmasmers Gerame G@mlus Ldaimls

i ]

Ha | =

18, 1=

CareneusmiUs &Temrs.

; . . !
Find a quadratic polynomial with zeros at x= ) and x=—1

19. 30 o mlyser Claram. <enlls cucuena euflansser @mas @wand ?

A matrix consisis of 30 elements. What are the possible orders it can have ?

2
20. A=(1 2 —1),B=|1|eralé, (AR - s srans.
1

I=d

then, find (AB)T.

FA=(1 2 —1}B={1
4

| »_,fI[rF;!JuE / Turmn over
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21. A6, 7), B(—4 1) womgw C (a, =9 dlueupenp (penansernss Claram
AABC - an Ll 68 & jau@aar erafle) a - & WngllienLs srans.

It the area of the AABC is 68 sq.units and the vertices are A (6, 7), B(—4, 1), T (a, —9)
taken in order, then find the value of a.

22. (-5, —2) eremm yeredl euifly Cledeugih S SIFSEERSE ElenanmiiTagoran
CriCarfaatlen soaurhEmers STeaTs.
Find the equation of the straight lines parallel to the coordinates axes and passing
through the point (-5, —2).

23

MP erémug) AMNO - @ £M -en Gleuefllym Em swbleu’ iy Gogibh NO - ar
B flulemen P - e spdladlpg. MN =10 Gg.15, MO=6 Glg.h, NO=12 Glz.b
arafley OP @ STenms.

i
o
>3 G il

™ 12em O P

In a AMNO, MP is the external bisector of #M meeting NO producted at P.

If MN=10cm, MO=6 cm, NO= 12 cm then find OF.
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O _ 14 sinb ara 16 3
——— =1+ sinb grenmy pHGlprimenwenil Hmeays.
e e M (pollprHenwenil bimeys

P the identit a2 1 + sinf}
rove the identity ——— =1 + .
© sech —tant

5 = 2 Wg(peTer ep(m Fmicuer e m Sfatiedlmmhg) 100 By grsdla Hemm oigser
= 2&lenw 45 grps Camramsdled LITTSsTH greanflen e WD eremen ?

A boy of height 5 feet away from the pillar of distance 100 feet saw the top of the pillar
with angle of elevation 45. Find the height of the pillar.

@ S Copm aull L& smiblilen sigéshneareay 236 Gla.ib, WHMID ST SFTLYTLD
12 Q&8 erafldy iEmbTan euaneT ILFLIEnL HreTs.

It the circumference of the base of a solid right circular cone is 236 cm, and its slant
height is 12 em. Find its curved surface area.

62.37 5.0 san sjera) Caran g Seamn Cpraul L o (meearulien 2 wfb
45 Gleb erafldy icuaymenaruilen =y rdenss Hrams

Volume of a solid cylinder is 62.37 cu.cm. Find the radius, if its height is 4.5 cm.

f2(r Yeratl alileurgslen wrmur’ (Aé Csip 57 nomn UL eassh 6.84 erafld,

3

2yFen sl [QEsyratlaus sramns.

If the coefficient of variation of a collection of data 15 37 and its 5.1 is 6.84, then find
the mearn.

[ &y / Turn over
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29. manE smesm =HEd eadsiul L 52 &Ll Msmas Werar. LGOS
Fligdlmbs so eurdiliy gpenpudiss exm FLH erdssLufpa. oips §C06

olsuLnsGaur (spade) sicdhag @rreraursGaur (king) GluughsTear
Hlansmellanand Freirs.

A card is drawn at random from a well shuffled deck of 52 cards. Find the probability
that it will be a spade or a king.

30. () Bids: x4 — =

TNV
(<) A=[35 10,15, 20 } ; B={ 6, 10, 12, 18, 24 } pmih C={ 7, 10, 12, 14, 21, 28 }
sl sammmsiEnsE A\ (B\C) = (A\BN\C ey Qulwim@or e =y7mils.

{a) Solve: x + e %ﬁ
X 3
OR

(B For A={5,10,15201}; B={6, 10,1218 24 | and C={ 7 10,12,74,-21, 28}
Verify whether A\(B\C)=(A\B\C.

LSlfley - 111 / SECTION - 11

|

(oGl uamrser @ 45) / (Marks : 45)

GOy ¢ (1) 9 dlamésienss ailenualEsalb. 9x5=45
(i) eflemr eeawm 45 &5 sorglurs dlalweafl&sebd. WP
14 cllemrasaallmrs gEsayn 8 cllamssamens Garay Galweay.
Note : (i)  Answer 9 questions.

(i) Question number 45 is compulsory. Select any 8 questions from the first
14 questions.

31. om mepsda 85% Cuir ypmdla Gurgl, 40% Cur sllp Gomdl woHmib 20%
Cur @nd Qurdl Cusdnrisdar. 42% Guir sWlipd sLmdoapn, 23% Gu
S0 @sHuh pomgih 10% Cur amfauph @Esub CusdpriasT ereme,
ppermy Glomblsenaryh Gus Qafisautsetsr seaigsdlaans sramns.

In a town 85% of the people speak English, 40% speak Tanul and 20% speak Hindi,

Also, 42% speak English and Tamil, 23% speak Tamil and Hindi and 10% speak English
and Hindi. Find the percentage of people who can speak all the three languages.
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29. meE emesd SHE&E madisiulL 52 L Msmers QsTam FU(h&
sl ell@ba s aimity wpapdd am E6 cripsaliufing. ons S0
GULTaGar (spade) =ydwg @rreraursGar (king) Emluugshsren

blabssellanand srams,

A card is drawn at random from a well shuffled deck of 52 cards. Find the praobability
that it will be a spade or a king,

30. (=) &ida: v+

TNV
(<34) A=[5 10,15, 20 } ; B={ 6, 10, 12, 18, 24 | opmitb C={ 7, 10, 12, 14, 21, 28 }
Spdlu memrusigma A\ (B\C) = (A\B)\C erentig) ClolirEsoT sTen < rmiis,

s

6

5

1
ta) Dolveix + ==
P

OR

(b) For A={5,10,15,20 ) ; B={ 6, 10,12, 18, 24 | and C={ 7, 10, 12, 14, 21, 28 }
Verify whether A\ (B\C)=(A\B)\C.

tlfley - 11T/ SECTION - 111

(UGl uemmaer @ 45) / (Marks : 45)

@OloY : () 9 eflamssEsée eflanwiafldasaib. 9x5=45
(i) ellenr crafr 45 &@ sarglurs o walésan. sd
1 cilemrésaflciphg gGaaib § efamassmens Cara) Gsiiwey.
Note : (1) Answer 9 questions.
() Question number 45 is compulsory. Seiect any 8 questions from the first
14 questinns
3. am parggld 85% Cuir eymidla Quond, 40% Gudi sl Quml womb 20%
Guir @sdl Qund Cusflprisdr. 42% Cuf s0lpid sy midlewapd, 23% Guir
S0l @bAuh whmis 10% Cui s kidad Ehdyn Cusfnrisdr crafld,
gpenm Clorflaamend Cus Qefisauisaien saslssdaars srams.

In a town 85% of the people speak English, 40% speak Tamil and 20% speak Hindi,
Also, 427 speak English and Tamil, 23% speak Tamil and Hindi and 10% speak English
and Hindi. Find the percentage of people who can speak all the three languages.
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N 20 Bud adrselar e f eram gnfly f: NoN, f(x)=x2—1 gren

T s UL () 1;.rn§51 (= Blal @ errun eran sflurids. FTL @levenay eremmey

& em et Lugjlu LSEENS Tl DENINSETE FTTLTS IOTmIWLT 7 =jeuaurlmeatc;
2 Ml gjaaagcaTm§1lL|u$gef;§ TG,

If f: W—N is defined by f(x)=12=1, check whether fis a function. If fis not a function,
find for what choice uf the co-domain, fwill be a function ?

R =LES ATl auflensud 10 ohmib 18 S 61 Lsar apenmGi 41

.ﬁ
=

£,

HmID 73 sraild, 27 syaus o 2 MiLienLIg &Tars

The 10" and 18™ termis of an AP are 41 and 73 respectively. Find the 271 term,
S EmUly vegmlys Carenauudsnas (x—2) MM (v +1)

aU@EHED Gumg) Edl wpampBu 11 mmiw 1 Ema

S La 2mHULE Garensulenensds Sreirs

If a quadratic polynomial is divided bv (x—2) and (x+1) leave the remainders 11 and
1 respectively, find the polvnomial,

&miyenmt|LiL URSEa @ x*+13x%+32v+20

i . 3 ) —

Factorize : »* +13v3+ 321+ 20

v s B e 0 N | My - e T
=0+ 109 —30x +25 - &n G THSHCLOEIS 0SS HTemrd .

Find the square root of 1 =6+ 1932 =301+ 25,

[ Slimlius / Turn over
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R
37. A=(? < J erened A—4A+51, = 0 eren fmeys.

.

If A= { __f] then show that A2—4A + 51, =0

38. (—4,5),(0,7), (5 —3) wogd (-4, -2) dw Leraflsemar (pearanseaTTas Claraim
BTDSTEEEN LTl smemns.

Find the area of the quadrilateral formed by the points (—4, 5), (0, 7), (5. —5) and
(=4, —=2).

39, Sx—yt9=0 x+2y=4 sl Gpis GCar@sdr Geul Hibyerafiyl e, 2v+y—4=0,
x=2y+3=0 dlu Gpirs Car@adr Qe Hib ydreflow Geaamégn Cora

GETlw el FWaUT N & STes.

Find the equation of the straight line joining the point of intersection of the lines
3x—y+9=0and x+2y=4 and the point of intersection of the lines 2v+y—4=0 and
x=2y-+3=()

40. Sy lueL eildlgsns Capniams erpd Flneys.

State and prove Basic Proportionality theorem.



1.

42,

43.

44.
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@7 HCas’ Gurr elwranh seny w8l @mEs 3000 15, wrsda,

codnmm 2HCGasl Gurt slwrersams Coum Guanss sLsdlngl. 2jsueurn
s &0 Gurg sar wl sdd qu @ollbl yearalluflelmbs Staubdlen
snng Gararhssr (penmw 60° womib 45° ereled, ibs CRradla Eramreug
Zurh eilorerd LHNW s Gurt efiwrarnd < FuanilnE @enL Ll L

aTsangs sansslBs. (3 =1.732 )

A jet fighter at a height of 3000 m from the ground, passes directly over another jet
fighter at an instance when their angles of elevation from the same observation point
are 60° and 45° respectively. Find the distance of the first jet fighter from the second jet

at that instant. (Use /3 =1.732)

120 Qg8 Beavqpid, 84 Qw8 el apih QaErar gm sTanaeni #0OLIHGSID

o menananitd Garam® s eflmearwr Hsdia sniu@sstudfos.

ellenenur_R&sHLma solufEs Eeuajmenar 500 p(pé SHOIFET &Lpa

CGeuam(Bib.eflenemur_HadL e swoliLfss g &80 (hém 75 eust eisb,
b )

ElenanE snlinfss oyEh ewmeus 5%&51‘&.{;-:_? Grens )

The diameter of a road roller of length 120cm is 84 cm.  If it lakes 500 complete
revolutions to level a playground, then find the cost of levelling it at the cost of 75 paise

22
per sq.metre (Take 7= - -

Gemenrpid wHiysallan wrgurm_ (& Laperaus sansdis :
20, 18, 32, 24, 26.

Calculate the coefficient of variation of the following data : 20, 18, 32, 24, 26,

52 & _(paar Caram_ qm £.06 sl gallmbg so aumiiy wenoulla sm F0
erp&sLuin Cursl, L0 e @rrer (King) sias e anrrl (Heart )
Sj@egl @ Sleulll Blngd FLLras San LLsharen Blapsseilaand srams,

A card is drawn from a deck of 52 cards. Find the probability of getting a King or a
Heart or a Red card. '

www.kalvisolai.com

3471

| #gslys / Turn over
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5. (=) @ &C05 Harifid wed m eglusaldr sl h LogdEn, wad n
2 MLt IEeTlEn Sl Laa@&@Gn G Guyeaer efldgn m?: n? eraflé m
=A% & MU WHNID n Speug 2 nuy Spfluameasdar (2m—1) @ (2n—1)
cranm alldlssdlel =yennuylh erenm sT_(HE.

<2 6060 &

(<2p) 148, AL Lo wpmid 20 5. epwdpdiar @ Hevm omenar aigeléd
Ceul LB Ans. dairy el Gib Gurg Caramg AuUESsLL L wem
e LpuutUC{ 2018x14 18 syareyseflla <igliLEsnns Garam e
sané Weciaus CoamLwrs Se@nsasliul Lrd =in Goeula o ufih
5T &2 .

(a}  The ratio of the sums of first m and first n terms of an arithmetic series is m2 - n2
Show that the ratio of the m'™ and n'® terms is 2m—1) : (2n—1).

OR

(b) A cylindrical shaped well of depth 20m and diameter 14m is dug, The dug out
soil is evenly spread to form a cuboid platform with base dimension 20 m » 14 m.
Find the height of the platform.

Wifley - IV / SECTION - IV

(dllSuamadr : 20) / (Marks : 20)

@MUY : galeurm dflammeilan o drar Gram® wrHm) cilerrasatlalmhs au
cilamrencus CornlsRssn B dlmrssensen sl ualssan, — 2x10=20
Note : Answer both the questions choosing either of the alternatives.
46 (=1) 3 @eib ypapater cul L Gl eovwsHdlmhs 9 Gl Qsramacid g
eTatlenwd @ilés. eiyeretiullallmbal el L sl @ QamH Car@mer
CUGNTHE| <G Benhisemen SarsdfHe.
S|V S
(<) AB=6 Gl&. S ~C=40° womib 258 C Welmpbs AB - $@ ceruliul L
GSHECHETH Farid 4.2 Qeb Garew. AABC susnis.

(a)  Take a point which is 9em away from a cirele of radius 3em and draw the two
tangents to the circle from the point.
OR

(b}  Construct a AABC such that AB=6cm, #C=40° and the altilude from C to AB is
of length 4.2 cm.
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(<3) euenTUL D pvaud Eids. 12—2v—3=0
D|EVE0G)
(<) 2 Cumpal weafide 40 6.5 Cassdd Qradns. BishE S sr - Sre

GSETD erpdl PsTiLen 1 cuenTLIL b s, @enz ] Liwen(Radl 3
wenfl Gpradiad GUCLEmHa Lwalss ssmss arans.

(a) Solve the equation x>~ 2y -3 =0 graphically.
OR

(b) A bus travels at a speed of 40km/hr. Write the distance - time formula and draw
the graph for it. Hence find the distance travelled in 3 hours.

-nlao-
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